Calculus of Variations

- as we will use it the calculus of variations foures on finding (the conditions of ) extrana for quantities that can be expressed as an integral. - This night seem and but twees out to be an interesting way to develop an equivalent formulation of mehanics. Canonical Conceptualization Using Calculus of variations we can show the shortest distance between two points is a line. Consider a general path in 2D y=y(x) XdS = small sequent of length Jdr2+ dy2

The length of the path is the integral  
from S<sub>1</sub> to S<sub>2</sub>  

$$l = \int_{0}^{S_{2}} ds \qquad \text{minimize } l, \\ \text{of dx ndy , and y(x), } \\ \text{ds = } \int_{0}^{1} dx \int_{0}^{1} dy \int_{0}^{2} dx \int_{0}^{1} dy \int_{0}^{1$$

And we need to investigate what happens in  
given 1,  
Take a function that is being integrated,  

$$f(y(x), y'(x), x)$$
  
 $S = \int_{x_1}^{x_2} f(y(x), y'(x), x) dx$   
(Assume  $y(x)$  minimizes  $S$  such  
that any function  $Y(x) = y(x) + dy(x)$   
produces a larger integral, even term  
 $\int_{x_1}^{x_2} f(Y(x), Y'(x), x) dx > \int_{x_1}^{x_2} f(y(x), y'(x), x) dx$   
Thus  $S(\alpha = 0)$  is a minimum,  
what conditions does that produce?  
 $\frac{dS}{dx}\Big|_{d=0} = 0$  finds the  
extremed

Start Long Derivation  

$$S = \int_{x_{1}}^{x_{2}} f(Y(x), Y'(x), x) dx$$

$$S = \int_{x_{1}}^{x_{2}} f((y(x) + aq(x), y'(x) + aq(x), x)) dx$$

$$\frac{dS}{dx} = \int_{x_{1}}^{x_{2}} \frac{d}{dx} \left[ f(y(x) + aq(x), y'(x) + aq'(x), x) \right] dx$$

$$= \int_{x_{1}}^{x_{2}} \left[ \frac{df}{dy} \frac{dY}{da} + \frac{df}{dy'} \frac{dY'}{da} + \frac{df}{dx} \frac{dx}{da} \right] dx$$

$$= \int_{x_{1}}^{x_{2}} \left[ \frac{df}{dy} \frac{dY}{da} + \frac{df}{dy'} \frac{dY'}{da} + \frac{df}{dx} \frac{dx}{da} \right] dx$$

$$\int_{x_{1}}^{x_{2}} \frac{d}{dx} (y + aq) = y$$

$$\int_{x_{1}}^{x_{2}} \frac{df}{dy} \frac{dy}{dy} = \frac{df}{dy} \frac{dy'}{dy} = 1$$

$$\frac{df}{dy} = \frac{df}{dy} \frac{dy}{dy} = \frac{df}{dy} \frac{dy}{dy} = 1$$

$$\frac{dy}{dx} = \frac{df}{dx} (y + aq) = y$$

$$\frac{dS}{dx} = \int_{x_{1}}^{x_{2}} \left[ \frac{df}{dy} y + \frac{df}{dy'} y' \right] dx$$
Set the integral to zero,  $\frac{dS}{dx} \Big|_{d=0}^{x_{0}} = 0$ 

$$\int_{x_{1}}^{x_{2}} \left( y \frac{df}{dy} + y' \frac{df}{dy'} \right) dx = 0$$
Tritegrate by parts:
$$\int y' y dx = [uv] - \int uv' dx$$

$$\int y' y dx = [y \frac{df}{dy'}]_{x_{1}}^{x_{2}} - \int_{x_{1}}^{x_{2}} \frac{df}{dy'} dx$$

$$\int y' y dx = [y \frac{df}{dy'}]_{x_{1}}^{x_{2}} - \int_{x_{1}}^{x_{2}} \frac{df}{dy'} dx$$

$$\int y' x dx = [y \frac{df}{dy'}]_{x_{1}}^{x_{2}} - \int_{x_{1}}^{x_{2}} \frac{df}{dy'} dx$$

$$\int y' x dx = [y \frac{df}{dy'}]_{x_{1}}^{x_{2}} - \int_{x_{1}}^{x_{2}} \frac{df}{dy'} dx$$

$$\int y' x dx = [y \frac{df}{dy'}]_{x_{1}}^{x_{2}} - \int_{x_{1}}^{x_{2}} \frac{df}{dy'} dx$$

$$\int y' x dx = [y \frac{df}{dy'}]_{x_{1}}^{x_{2}} - \int_{x_{1}}^{x_{2}} \frac{df}{dx} (\frac{df}{dy'}) dx$$

$$\int \frac{dS}{dx} = \int_{x_{1}}^{x_{2}} \left( y \frac{df}{dy} - y \frac{d}{dx} \left( \frac{df}{dy'} \right) \right) dx = 0$$

OK after all that,  

$$\frac{dS}{dx} = \int_{x_1}^{x_2} y(x) \left[ \frac{df}{dy} - \frac{d}{dx} \left( \frac{df}{dy} \right) \right] dx = 0$$
must be the for any  $y(x)$  so,  

$$\frac{df}{dy} - \frac{d}{dx} \left( \frac{df}{dy} \right) = 0$$
Ever -  

$$\frac{df}{dy} - \frac{d}{dx} \left( \frac{df}{dy} \right) = 0$$
Ever -  

$$\frac{df}{dy} - \frac{d}{dx} \left( \frac{df}{dy} \right) = 0$$
Ever -  

$$\frac{df}{dy} - \frac{d}{dx} \left( \frac{df}{dy} \right) = 0$$
Ever -  

$$\frac{df}{dy} - \frac{d}{dx} \left( \frac{df}{dy} \right) = 0$$
Ever -  

$$\frac{df}{dy} - \frac{d}{dx} \left( \frac{df}{dy} \right) = 0$$
Ever -  

$$\frac{df}{dy} - \frac{d}{dx} \left( \frac{df}{dy} \right) = 0$$
Ever -  

$$\frac{df}{dy} - \frac{d}{dx} \left( \frac{df}{dy} \right) = 0$$
Ever -  

$$\frac{df}{dy} - \frac{d}{dx} \left( \frac{df}{dy} \right) = 0$$
Ever -  

$$\frac{df}{dy} - \frac{d}{dx} \left( \frac{df}{dy} \right) = 0$$
Ever -  

$$\frac{df}{dy} - \frac{d}{dx} \left( \frac{df}{dy} \right) = 0$$
Ever -  

$$\frac{df}{dy} - \frac{d}{dx} \left( \frac{df}{dy} \right) = 0$$
Ever -  

$$\frac{df}{dy} - \frac{d}{dx} \left( \frac{df}{dy} \right) = 0$$
Ever -  

$$\frac{df}{dy} - \frac{d}{dx} \left( \frac{df}{dy} \right) = 0$$
Ever -  

$$\frac{df}{dy} - \frac{d}{dx} \left( \frac{df}{dy} \right) = 0$$
Ever -  

$$\frac{df}{dy} - \frac{d}{dx} \left( \frac{df}{dy} \right) = 0$$
Ever -  

$$\frac{df}{dy} - \frac{d}{dx} \left( \frac{df}{dy} \right) = 0$$
Ever -  

$$\frac{df}{dy} - \frac{d}{dx} \left( \frac{df}{dy} \right) = 0$$
Ever -  

$$\frac{df}{dy} - \frac{d}{dx} \left( \frac{df}{dy} \right) = 0$$
Ever -  

$$\frac{df}{dy} - \frac{df}{dx} \left( \frac{df}{dy} \right) = 0$$
Ever -  

$$\frac{df}{dy} \left( \frac{df}{dy} \right) = 0$$
Ever -  

$$\frac{df}{dy$$

 $l = \int_{X_1} \int_{1+y'z'} dx$ here,  $f(y,y',x) = \int_{1+y'z'}$ Now let's apply the Esler-Lagrange formulator

$$\frac{df}{dy} - \frac{d}{dx} \left( \frac{df}{dy'} \right) = 0$$

$$\frac{df}{dy} = 0 \qquad \frac{df}{dy'} = \frac{1}{2} \left( \frac{1+y'^2}{2} \right)^{1/2} (2y')$$

$$\frac{df}{dy'} = \frac{y'}{\sqrt{1+y'^2}}$$

$$-\frac{d}{dx} \left( \frac{y'}{\sqrt{1+y'^2}} \right) = 0 \qquad y'(x) \text{ function}$$

$$\frac{y'}{\sqrt{1+y'^2}} = \text{ constant}$$

$$\frac{y'}{\sqrt{1+y'^2}} = \text{ constant}$$

$$y'^2 = c^2(1+y'^2)$$

$$y'^2(1-c^2) = c^2$$

$$y'^2 = \frac{c^2}{(1-c^2)}$$

SD,  

$$y' = \int_{1-c^2}^{c^2} z = \text{Some other} = m$$
  
 $constant$   
 $dy = const \Rightarrow y(x) = mx + b$